MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy
Air Balance, a division of Mestek, Inc.

450 Riverside Drive

Wyalusing, PA 18853

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER
reserves the right to revoke this acceptance if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model A520 5” Aluminum Louver System

APPROVAL DOCUMENT: Drawing No. 1686-1, titled “A520 Impact Louver System”, sheets 1 through
10 of 10, dated 12/19/2024, prepared by Air Balance, a division of Mestek, Inc., signed and sealed by Wayne
K. Helmila, P.E., bearing the Miami-Dade County Product Control revision stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
1n 1ts entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 23-0713.05 and consists of this page 1 and evidence pages E-1, E-2,
E-3 and E-4, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

; NOA No. 25-0106.03
MIAMI-DADE COUNTY o . N
APPROVED 02/19/25 Expiration Date: January 6, 2026

Approval Date: February 27, 2025
Page 1



Air Balance, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOAs

A. DRAWINGS “Submitted under NOA # 12-0105.02”
1. Drawing No. 1686, titled “A-520 Impact Louver System”, sheets 1 through 10 of 10, dated
07/23/2009, with revision A1l dated 11/08/2011, prepared by W. W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS “Submitted under NOA # 09-1015.09”
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0305-09, dated 09/29/2009, signed and sealed by Vinu J. Abraham, P.E.
2. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0715-09, dated 09/30/2009, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS “Submitted under NOA # 14-0513.09”
1. Wood screw calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 04/14/2014, signed and sealed by Warren W. Schaefer, P.E.
“Submitted under NOA # 09-1015.09”
2. Structural calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 10/06/2009, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS “Submitted under NOA # 14-0513.09”
1. Statement letter of code conformance to 2010 and 5" edition (2014) FBC issued by W. W.
Schaefer Engineering & Consulting, P.A., dated 04/14/2014, signed and sealed by Warren W.
Schaefer, P.E.
2. No financial interest letter issued by W. W. Schaefer Engineering & Consulting, P.A, dated

04/14/2014, signed and sealed by Warren W. Schaefer, P.E.

“Submitted under NOA # 12-0105.02”
3. Private label agreement dated 12/21/2011.

Carlos M. Utrera, P.E.
Product Control Examiner

NOA No. 25-0106.03
Expiration Date: January 6, 2026
Approval Date: February 27, 2025



Air Balance, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. Evidence submitted under NOA # 17-0713.16

A. DRAWINGS

1. Drawing No. 1686, titled “A520 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/2009, with revision B1 dated 07/05/2017, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.
B. TESTS
1. None.
C. CALCULATIONS
1. None.
D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)
E. MATERIAL CERTIFICATIONS
1. None.
F. STATEMENTS
1. Statement letter of code conformance to the 5" Edition (2014) and 6™ Edition (2017)
FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated 07/05/2017,
signed and sealed by Warren W. Schaefer, P.E.
2. Company name change request letter issued by W.W. Schaefer Engineering &

Consulting, P.A., dated 07/05/2017, signed by Warren W. Schaefer, P.E.

3. Evidence Submitted under NOA # 20-0622.24

A. DRAWINGS “Submitted under NOA # 19-0401.03”

1. Drawing No. 1686, titled “A520 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/2009, with revision C1 dated 03/14/2019, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.
B. TESTS
1. None.

C. CALCULATIONS

1.

None.

D. QUALITY ASSURANCE

1.

Miami-Dade Department of Regulatory and Economic Resources (RER)

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.03

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



Air Balance, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

F. MATERIAL CERTIFICATIONS
1. None.

G. STATEMENTS
1. Statement letter of code conformance to the 6™ edition (2017) and 7 edition (2020) of
the FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated
06/03/2020, signed and sealed by Warren W. Schaefer, P.E.
“Submitted under NOA # 19-0401.03”
2. Statement letter of no financial interest issued by W. W. Schaefer Engineering &
Consulting, P.A., dated 03/14/2019, signed and sealed by Warren W. Schaefer, P.E.

4. EVIDENCE SUBMITTED UNDER NOA # 23-0713.05

A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade County Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 7™ edition (2020) and the 8™ edition
(2023) of the FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated

07/01/2023, signed and sealed by Warren W. Schaefer, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.03

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



Air Balance, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

S. NEW EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 1686-1, titled “A520 Impact Louver System”, sheets 1 through 10 of 10,
dated 12/19/2024, prepared by Air Balance, a division of Mestek, Inc., signed and
sealed by Wayne K. Helmila, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. Louver A520 anchorage calculations, prepared by Rice Engineering, dated
01/13/2025, signed and sealed by Wayne K. Helmila, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 8" edition (2023) of the FBC and of no
financial interest, issued by Rice Engineering, dated 01/14/2025, signed and sealed by
Wayne K. Helmila, P.E.
2. Verification test contract letter, issued by Intertek, dated 02/14/2025, signed by Austin
L. Wilcox, product engineer.

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.03

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



PANEL LOAD TABLE JAMB ANCHORS TO SUBSTRATE PANEL ANCHOR SPACING/PRESSURE TABLE
(WITH SIDE CLIPS) SEE GORNER |<—— 60" MAX FRAME WIDTH ——] PER ANCHOR REQUIREMENTS (WITH CONTINUOUS SIDE SUPPORT ANGLE)
i BLE Ol A
PANEL (1)CLIP | ALLOWABLE sl (A a2y et i ?E,ESQACE@?R ANGLE TO ANGLE TO LOUVER
W(:!EI)T)H SPGS')NG Pzﬁsfé’gb ON THIS SHEET _\/~\ AL/ FORSPACING & END DISTANCE. SUBSTRATE ANCHORS FRAME SCREWS [, qivacy o
; . % I L PANEL
\ i 1 e — ’ PRESSURE
8 120 \\‘\\ Wi H/// [ B— I"”A Y WIDTHUN | spacing | ENDDIST. | SPAGING | ENDDIST. | (+-PSF)
36 13 104 \\\ K. H 1/, 7 JAMS CLIP % % [ conmous —
) 75 \\3‘\:’:\;& b 5(4’ /// Jremes 2,82 = £z, 80 | [FSURRORTANGLE—] () (IN) Ny Ny
o e APPLICABLE wnS5 * * wiiSo 8 4 4 2
8 120 NS \’\C N S % e (BT EH 3 FLIS it JAMB SPLICE WHEN 120
42 13 89 R Lowverts 4 Vous Eord 81 REQUIRED FOR STACKING 36 13 712 712 334 104
[ & No. 59002 vounesy (B2 wred 3 ¥ wrad VBN a /— — (seesecionAtsFOR s o 9 410 75
5 = . NV, a-Qo = = o~ Q0 DETAIL). SPLICE LOCATION ry p T 2 20
120 83 % % 2 TO BE BETWEEN BLADES.
48 13 78 2 ) | L 42 13 7112 7112 3304 80
18 56 c end B 18 9 9 I 64
] 120 % S s 8 4 4 2 120
3 48 13 7112 712 334 78
54 13 69 JAMB SPLIGE — ALLOWABLE DESIGN z oy g g z 'o (0 : :
18 50 WHEN REQUIRED Srwg = 2 5Luw@ LOUVER (REF, 18 9 9 4102 56
FOR STACKING it WwHES ¥ L OWEZ o Fower
r 120 wil 5o wl=o [ | — ELEVATIONS ON ] > 2 > o
(SEE SECTION ] (SINGLE LOUVER PANEL) 250% 8535 SHEET12.2)
50 13 62 A1/4 FOR DETAIL). — — 4 Foad 54 13 712 712 334 69
SPLIGE LOCATION [ SEE "PANEL LOAD TABLE" [— WTgd wrIg® B 8 9 9 VED 50
i %8 TO BE BETWEEN | ONTHISSHEETFOR  [—] #Foo g 2 $Fo3 kL 5
(1) CLIP SPAGING WITHIN SLEEVE BLADES. | ALLOWABLE PRESSURE. [ ] 7“; L / 8 4 4 2 120
MOUNTED LOUVERS MAY NOT VARY AND ; 60 13 7112 7112 334 62
SHALL ALWAYS BE 8". JAN 3 U 2025 t C 18 9 9 4102 45
4 SUPPORT ANGLE TO LOUVER FRAME CONNECTION
SCREW. SEE ANCHOR SPACING TABLE ON THIS

GENERAL NOTES SHEET FOR SPACING & END DISTANCE.

1) THESE LOUVER SYSTEMS HAVE BEEN TESTED, ANALYZED, & APPROVED FOR DESIGN PRESSURES NOT TO EXTERIOR LLEVATION. INTERIOR ELEVATION ROTE. SINGLE LOIVER PANEL SMALEE
EXCEED THOSE SHOWN IN THE ALLOWABLE DESIGN PRESSURE TABLE(S). SINGLE WIDE LOUVER PANEL P IONAm — STACKED/SPLICED VERTICALLY OR THE

(ARGHITECTURAL & NON-ARCHITECTURAL) (OPT SID INSTALLATION W LOUVER PANEL MAY RUN VERTICALLY TO

2)  OPENINGS, BUCKING, & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER SCALE: 1/2" = 1'-0" CONTINUOUS SIDE ANGLES) (FOR DETAIL NOT SHOW, INFINITE HEIGHT PROVIDING OPENING IS
WIND LOADS TO THE STRUCTURE. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE SCALE: 1/2" = 10" d
STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE 2= SEE OTHER ELEVATIONS) PROPERLY DESIGNED BY OTHERS TO
LOUVERS. SUPPORT THE LOUVER PANELS.

ANCHOR BLE

3)  ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY RICE REQUIREMENTS TA
UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE MATERIAL ENGINEERING JAMB ANCHORS
SHALL BE BEYOND WALL FINISH OR STUCCO. SLEEV. :

105 School Creek Trail SUBSTRATE FASTENER Aame | win.emaeD | min. EDGE E SPLIGING NOTE FOR SLEEVE MOUNTED LOUVERS:

4)  THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR Luxemburg, W1 54217 _

IMPACT, CYCLIC, & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANGE WITH THE FLORIDA BUILDING Phone: (920) 617-1042 WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA, S.8. LAG SCREW 2 2-3/8" 1102 SLEEVE MAY BE SPLICED ALONG HORIZONTAL OR
CODE PROTOCALS TAS-201, 202, & 203 FOR LARGE MISSILE IMPACT LOUVERS. Fax: (920) 617-1100 A36 STEEL (MIN. 1/8" THK.) 1/4-14 300 SERIES Fy=65Ksi 5.5. SCREW 2 FULL 12" VERTICAL RUNS PROVIDING SPLICE DOES NOT OCCUR
5  THESE LOUVER SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE REQUIREMENTS OF Yooy tloesine com METAL STUD (MIN. 16 GA. 33 KSI) 1/4-14 300 SERIES Fy=65ksi S.5. SCREW 2 FULL 12" WITHIN 12" OF ANY VERTICAL MULLION CENTERLINE.
THE FLORIDA BUILDING CODE (FBC) INGLUDING HIGH VELOCITY HURRIGANE ZONES (HVHZ). zlortt:a Firm No: F-01000005061 ALUMINUM (MIN. 1/8" THK. 6063-T5) 1/4-14 300 SERIES Fy=65ksi .S, SCREW 2 FULL 112"
ertificate of ization: #9090 : 0
6)  IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE LOUVER SYSTEMS. Wayne K. Helmila CMU (MIN. C-90) 1/4 300 SERIES $.5. MASONRY SCREW 2 2 4
Registration No: 59092 GONGRETE (MIN. 4000 PSI) 1/4" DIA. S.S. WEDGE ANCHOR 2 1-314" o CORNER & BLADE END CONSTRUCTION:
7)  ALLANCHORS SECURING LOUVER FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE v o -
CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD, CONCRETEALTY (1IN 3000 BSh) SIB70IR; S S{CONCRETE SCREW ! 2 Z 1
S —————— FRAME HEAD: HORIZONTAL MEMBER IS SQUARE CUT,

8)  DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN BUTTED TO VERTICAL MEMBERS, & FASTENED WITH
ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOGITY. FOR WIND LOAD SUBSTRATE FASTENER QTY PER GLIP | MIN.EMBED | MIN. EDGE TWO (2) NO. 7 X 1-1/4" SMS HEX HEAD SCREWS INTO
c/ S IN ACCORDANCE Wi E FLORIDA BUILDING CODI IONALITY FACTOR OF KD = 0.

Mﬁb"é’éﬁ‘?ﬁk;ﬁg THE ASCE-7 slTT,m,T]:R; E/A DIRECTIONALITY.FA b08s WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA, 8.S. LAG SCREW 8 2-3/8" 1-1/2" THE HORIZONTAL MEMBERS SCREW SPLINES,
'A36 STEEL (MIN. 1/8" THK,) 1/4-14 300 SERIES Fy=65ks! 5.5. SCREW 5 FULL 112"

9)  NOINCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE GERTIFICATION OF THIS PRODUCT. WIND LOAD METAL STUD (MIN. 16 GA. 33 KSI) 1/4-14 300 SERIES Fy=65Kksi S.5. SOREW 8 FULL 2 FRAME SILL: VERTICAL MEMBERS ARE ANGLE CUT,

DURATION FACTOR CD = 1.6 WAS USED FOR WOOD SCREW ANALYSIS ONLY. BUTTED TO HORIZONTAL MEMBER, & FASTENED WITH
ALUMINUM (MIN. 1/8" THK. 6063-T5) _|1/4-14 300 SERIES Fy=65ksi §.5. SCREW 8 FULL 102" TWO (2)NO. 7 X 1-1/4" SMS SORES NTE TR

10) MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTAGT WITH OTHER CONGRETE (WIN. 4000 PSI) /4 DIA. 5.5 WEDGE ANCHOR 3 P 334 : 4

DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20. 2
CONGRETE [ALT. (WIN. 3000 FS) TR T ~ i e VERTICAL MEMBERS SCREW SPLINES.

11)  EACH LOUVER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS: TUBE WOLLION END GLIE ANGHORE BLADE END: HORIZONTAL BLADES ARE SQUARE GUT,
Qg@i:ﬁg"@"};’égmlgi AND VENTILATING SUBSTRATE FASTENER QTY PEREND | MIN.EMBED | MIN. EDGE BUTTED TO VERTICAL MEMBERS, & FASTENED WITH
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA. S.S. LAG SCREW 10 2-1/4" 1-1/2" gKVAODl(EZ)sggE—\,/vOSRPEﬁEBSX 1-1/4" SMS SCREWS INTO THE

12) THESE LOUVERS ARE NOT TESTED FOR WATER INFILTRATION RESISTANCE; THEREFORE THE LOUVERS ARE ASESTEEL MIN: 18 THIK) 1/4-14 300 SERIES Py-00ic 5.8, SCREW . FULL Nz ’

TO BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO DRAIN WATER METAL STUD (MIN. 16 GA. 33 KSI) 1/4-14 300 SERIES Fy=66ksi §.5. SCREW 8 FULL 12"
EE%EPTORNA;‘;:& g‘;gJQ}ELTEOSOMn AND THE ROOM WILL HOUSE WATER RESISTANTIWATER PROOF EQUIPMENT, ALUMINUM (MIN. 1/8" THK. 6063-T5) _|1/4-14 300 SERIES Fy=65ksi 5.5. SCREW 8 FULL 12"
) 4
CONCRETE (MIN. 3000 PSI) 1/2" 8.8, WEDGE ANCHOR % 3-3/4" 5" -
13)  MULLED PANELS MAY BE HORIZONTALLY INSTALLED TO AN UNLIMITED NUMBER. VERTICAL STACKING OF ) i Dol st o M el
5 1. Concrete screws shall be Hiltl KWIK HUS-EZ stainless steel SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY ANDIOR
MULLED PANELS MAY OCCUR PROVIDING A STRUGTURAL SUPPORT IS DESIGNED & INSTALLED BY OTHERS TO st iy i Gotor 1WF 300 Gars disl e INSTALLATION OF ANY OTHER PRODUCT NOR MAY THEY BE USED
SUPPORT ALL LOADS TRANSFERED FROM THE LOUVER ASSEMBLY (SINGLE PANELS MAY RUN TO UNLIMITED 2. CMU screws shall be lS»ew_a It Ii\ggre- or HWH 300 Seres stainless steel. INSTACLATION OF ANY OTHER PRODUCT NORMAY THEY BE UsED
HEIGHT PER ELEVATION IF NO MULLION EXISTS). 3. Wedge anchors shall be Hilli KWIK Boll TZ2 stainless stcel, FORFATINALANDIOR L
4. CMU is applicable at jambs only. THE MANUFACTURER STATED ON THESE DRAWINGS.
PRODUCT REVISED T
AIR BALANCE —as complying with the Florida | A520 IMPACT REV.| DATE | DESGRIPTION BY_|[oRAWNBY: e 10f 10
Building Code LOUVER SYSTEM CHECKED BY: e
A MESTEK COMPANY NOA-No. 25—0106 . 03 SC1A/|2-§== 5
450 RIVERSIDE DRIVE v
WYALUSING, PA 18853 . . REV.
T c Expiration Date 01/06/2026 1686-1
oo eproccade vl o b gt o sl thrs vt = == o
expross wrklen parmisson e,

By
Miami-Dade Product Control



Carlos Utrera
New Stamp


MULLION ALLOWABLE DESIGN PRESSURE
(NON-ARCHITECTURAL LOUVERS) 60" MAX FRAME WIDTH ———J——— 60" MAX FRAME WIDTH 60" MAX FRAME WIDTH ———] RICE
(ALY A2 (D102 Y03 Y04 Y'D5Y
ALLOWABLE PRESSURE W, 7 K7 K8 Ks Ke )/ ENGINEERING
AXIMUM | mAXIMUM LOAD P8R | | | 105 School Creek Trall
MULLION SPAN WIDTH (IN.) T + T T + Luxemburg, Wl 54217
(IN) " | WITH NO TUBE | WITH 4" X 3" X 3/16" |WITH 4" X 3" X 1/4" I | I I | Phone: (920) 617-1042
MULLION TUBE MULLION TUBE MULLION n T 7 Fax: (920) 617-1100
} } f el
60 30.6 46.1 61.4 -OPPOSITE V.VWW..(ICe inc.com
& ol o Gk [ = =y Confcats of Atharzaton: #5050
a8 383 576 768 s 4 Y INE . NEWa] | v Wayne K. Holmila
42 137 658 87.8 oy (B2 (F2 F2 Reglstration No; 59092
120 fog 4/ N N4 r 98 /] T
36 51.0 76.8 102.4 aE L 23 t t T
30 61.2 92.2 120.0 E g 5 ., 1
w = 1
.5 116.2 120.0 =271
2 = B m [ ALLOWABLE DESIGN[—]
18 102.0 120.0 120.0 [ E % —1 PRESSURE
60 420 63.2 843 Xz n }
: 15892 (MULTIPLE —
54 468 702 938 z3F F— NON-ARGHITECTURAL [
48 525 79.0 105.3 22 —] ]
42 60.0 90.3 120.0 - SEE MULLION -
108 PRESSURE TABLE
36 70.0 105.3 120.0 " ON THIS SHEET. N
30 84.0 120.0 120.0 . i =
24 104.9 120.0 120.0 l ! ! ! [
| | | i |
18 120.0 120.0 120.0 1 J I T
60 563 90.0 120.0 FOR LOCATIONS OF JAMB J J
% - . CLIPS, SEE SINGLE PANEL
54 62.5 100.0 120.0 ELEVATION (NOTE THAT MULLION LOAD WIDTH [=+—— MULLION LOAD WIDTH
T 25 20, FRAME SPLICE DOES NOT -
z o ! e ARPLYTO MULLED UNITS) CENTERLINE CEtERLNE CEERLING
96 42 80.4 120.0 120.0
36 93.8 120.0 120.0
30 112.5 120.0 120.0 EXTERIOR ELEVATION:
MULTIPLE LOUVER PANELS
24 120.0 120.0 120.0
60 64.3 120.0 1200 (N%"‘C"ng*w;c:\)gﬁ‘—)
54 714 1200 120.0 * &
48 80.4 120.0 120.0 (3 PANEL UNIT SHOWN; MORE THAN
84 3 PANELS MAY BE MULLED/STACKED
42 91.8 120.0 120.0 HORIZONTALLY)
36 107.1 120.0 120.0
30 120.0 120.0 120.0
60 75.0 120.0 120.0
54 83.3 120.0 120.0
72 48 93.8 120.0 120.0
42 107.1 120.0 120.0
36 120.0 120.0 120.0
® w00 200 00 PRODUCT REVISED
w0 5 100.0 1200 1200 as complying with the Florida
48 112.5 120.0 120.0 Bmldlng code
42 120.0 120.0 120.0
- m e ] NOA-No. 25-0106.03
54 120.0 120.0 120,0
2 £ 1200 1200 200 Expiration Date 01/06/2026
NOTES: Pttt
1, SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH,
2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF THE PRESSURE SHOWN IN THIS B
[ TABLE & THAT SPECIFIED FOR THE INDIVIDUAL LOUVER PANEL. y
Miami-Dade Product Control
CERTIFICATION L REVISIONS DATE; 19 DEC, 2024 |[SHEET Mo
AIR BALANCE A520 IMPACT REV.| DATE | DESCRIPTION BY |[DRAWNBY: sy 2of 10
LOUVER SYSTEM CHECKED BY:
JMC
A MESTEK COMPANY SC‘0§§= 1-0"
450 RIVERSIDE DRIVE
WYALUSING, PA 18853 REV.
o 1686-1 o
s wilon parmision o MESTER o



Carlos Utrera
New Stamp


MULLION ALLOWABLE DESIGN PRESSURE

(AF{CH]TECTURAL LOUVERS) f=— 60-3/8" MAX FRAME WIDTH ——f——— 58-7/16" MAX FRAME WIDTH —{—=—— 60-3/8" MAX FRAME WIDTH —] _RICE
MAXIMUM %m J A cap (cYcaYea ErreTTry
MULLION MAXIMUM LOAD | ALLOWABLE PRESSURE e/ 8 5 K6 A6/ 8 ENGINEERING
SPAN (IN)) WIDTH (IN.) (+-PSF) I . | . 105 Sohool Creek Trall
i i Luxemburg, Wi 54217
% Tid | ! Phone: (920) 617-1042
| t Fax: (920) 617-1100
54 68.3 1 I - www.rice-inc.com
48 76.8 T 1 1 Florida Firm No: F-01000005061
120 & 55 @ v ‘\ S )‘ —y {EN= 81 v Certificale of Authorization: #9090
; Wayne K. Helmila
36 1024 H (B2 | I Registration No: 59092
30 120.0 E m T T
1 1
60 843 g v
54 936 F B4 | !
108 5 =y i Cs ) ALLOWABLE DESIGN
: g f PRESSURE
42 120.0 = ——
= 5 200 B H (MULTIPLE
- S T ARCHITECTURAL
NOTES; : PANELS)
1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. T SEE MULLION
2, ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF t PRESSURE TABLE
THE PRESSURE SHOWN IN THIS TABLE & THAT SPECIFIED T ONTHIS SHEET.
FOR THE INDIVIDUAL LOUVER PANEL. t
1 ]
| : |
FOR LOCATIONS OF JAMB 4 ‘
CLIPS, SEE SINGLE PANEL
ELEVATION (NOTE THAT
FRAME SPLICE DOES NOT
APPLY TO MULLED UNITS)
EXTERIOR ELEVATION:
MULTIPLE LOUVER PANELS
{ARCHITECTURAL)
SCALE: 1/2" = 1'-0"
(3 PANEL UNIT SHOWN; MORE THAN
3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)
W
\\\\\\e\\K L’///////
S Q %
as complying with the Florida
Building Code
NOA-No. 25-0106.03
Expiration Date 01/06/2026 7, 5Si08 E‘\O\
— /77, NAL EAN
B W
y
Miami-Dade Product Control JAN 3 0 2025
CERTIFICATION A520 IMPACT REVISIONS DATE: 196G, 202 || SHEET MO
AIR BALANCE REV.] DATE [ DESCRIPTION BY [[DRAWNBY: - 3 Of 10
LOUVER SYSTEM CHECKED BY: e
AMESTEK COMPANY SCALE: .
450 RIVERSIDE DRIVE Jze 10
WYALUSING, PA 18853 REV,
VST 1686-1
expross witon pormiszlon of MESTEK, nc. e



Carlos Utrera
New Stamp


SUBSTRATE BY'
OTHERS

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: (920) 617-1042

A SEALANT AND
sg:;\Atlz-\?gl :gg BAGKER ROD (26) Fax: (920) 617-1100
BY OTHERS BY OTHERS www.rice-inc.com
i Florida Firm No: F-01000005061
‘ ‘ Cerlificate of Authorization: #9090
o) Wayne K. Helmila
A o \ ~ 7 Registration No: 59092
f SUBSTRATE BY
iy l/\ OTHERS .u 118" X 1" WELD
‘g’ CLIP ANCHOR PER E: /— FACH SIDE
g ANCHOR REQUIREMENTS g CLIPIJAMB ANCHOR PER FERIOR
TABLE ON SHEET —
i 9 1 1 W%.B
s O ﬂ "P \@ JAMB CLIP SUBSTRATEBY _ |
OTHERS
A 44) JAMB CLIP \/\
V\@ \/\® SEALANT AND
A \/\ BACKER ROD —
i B8Y OTHERS
\‘ \“ I 17} /, /
,,,,,,,,, \\ e (
JAMB SPLICE / JAMB SPLICE EXTERIOR
LION SPLICE MULLION SPLICE
3 O SNOT PART OF £ IS NOY PART OF ::3‘ MAX SPACE —| e ——
G THIS APPROVAL) A G THIS APPROVAL) \/\ o~ )
w w oy o
g = =
w
% A H - A =% SECTION (81
w EXTERIOR INTERIOR [ - 5 SCALE: 3"= 4/
- -t
FXTERIOR INTERIOR =z (NO SLEEVE & CLIPS TURNED OUT)
o 77, TONAL E\“\ \\\
s
B O JAN 3 0 2025
wa wa
E & e O E [ CLIP/IJAMB ANCHOR PER INTERIOR
oK 1z w ANCHOR REQUIREMENTS —/
g 2 g 2 TABLE ON SHEET 1
E] = = 4
85 \ B \ SUBSTRATE BY
SUBSTRATE RS
1 l L /— BY OTHERS i { — = - @X j
f SEALANT AND
‘ BACKER ROD —
\ @ BY OTHERS
@) N\
(3) DRAIN PAN / (3) DRAIN PAN Y \— EXTERIOR
SUBSTRATE
BLOCKING & BED OF s q FRAME
SEALANT BY OTHERS BY OTHER # Maxspace —-| WIDTH ~
SECTION (A SECTION (A2 SECTION B2
SCALE: 3"=1-0" \4/ SCALE: 3"=1-0" \4/ SCALE: 3"=1-0" 4/
(SLEEVE MOUNT) (NO SLEEVE & CLIPS TURNED IN)
as complying with the Florida REVISIONS DATE: 1oDEC, 2004 ||STEET Mo
AIR BALANCE Bmldlng Code A520 IMPACT REV.] DATE _| DESCRIPTION BY _||DRAWNBY: e g 4 of 10
NOA-No. 25-0106.03 LOUVER SYSTEM KRR,
AMESTEK COMPANY SCALE: &
450 RIVERSIDE DRIVE Expiration Date 01/06/2026 REV,
WYALUSING, PA 18853 - - -
VESTEC o 1686-1 —
s vrion pomtsin A VESTER

By

Miami-Dade Product Control



Carlos Utrera
New Stamp


EACH EDGE
OF ANGLE

SUBSTRATE BY

OTHERS ~ }
SEALANT AND
BACKER ROD —
BY OTHERS
EXTERIOR
" FRAME ____
1/2" MAX SPACE WIDTH
SECTION B3
SCALE:3"=1-0" \5/

(WITH SLEEVE & CLIPS TURNED OUT)

EACH EDGE
OF ANGLE

SUBSTRATE BY _|
OTHERS

SEALANT AND
BACKER ROD —{
BY OTHERS

1/2" MAX SPACE J

% zee

EXTERIOR

FRAME

WIDTH
SECTION /82)
SCALE: 3"=1-0" 5/

(WITH SLEEVE & CLIPS TURNED IN)

SEALANT AND
BACKER ROD
BY OTHERS

SUBSTRATE
BY OTHERS

1/2" MAX SPACE

EXTERIOR

FRAME HEIGHT

1/2" MAX SPACE
(SHIM AS REQD)

BLOCKING & BED OF
SEALANT BY OTHERS

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE

ON SHEET 1 (4 PER CLIP)

e

%
®

INTERIOR

0
l

!

7
/ \v SUBSTRATE

BY OTHERS

SECTION E E 3
SCALE: 3"=1-0"

(ARCHITECTURAL LOUVER WITHOUT PERIMETER
SLEEVE; INSTALLED INTO WOOD, STEEL,
ALUMINUM, OR METAL STUD SUBSTRATE)

| By
E: Miami-Dade Product Control
z
MULLION CLIP
ANCHORS (REF.)
I
o
e L]
3
b ¢} |
o ©
e
iy
§ =%
3
E 4
o (FOR DETAIL NOT SHOWN, Wi
SEE SECTION E/9) 8 \\\\t( I_:/ ’///,/
\:'“\ I - 4 %,
N 7,
TUBE MULLION CLIP ::
ANCHORS PER ANCHOR ;
REQUIREMENTS TABLE e
ON SHEET 1 (6 PER CLIP =
INTO WOOD SUBSTRATE; = *

4 PER CLIP INTO ALL
OTHER SUBSTRATES)

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 25-0106.03

Expiration Date 01/06/2026

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wl 54217
Phone: (920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila
Registration No: 569092

Ssy R
ONAL \
KON

JAN 3 0 2025

DATE: SHEET No.:
AIR BALANCE Loulitai A520 IMPACT REV.| DATE [ DESCRIPTION RO BY |[DRAWNBY: :;TZEC' = 50f 10
LOUVER SYSTEM CHECKED BY: e
A MESTEK COMPANY SCALE: 1ige
iy
I MESTER oo, 1686-1 o

In part,
oxprass wiitlon pormission of MESTEK, Ine.



Carlos Utrera
New Stamp


SUBSTRATE
BY OTHERS

~ TUBE MULLION CLIP
ANCHOR PER ANCHOR
REQUIREMENTS TABLE

ON SHEET 1 (1 PER CLIP)

MULLION CLIP

(7/’— ANCHORS (REF.)

=

.

EXTERIOR

INTERIOR

(FOR DETAIL NOT SHOWN,

SUBSTRATE /

BY OTHERS

SECTION
SCALE: 3" =1-0"

r

SUBSTRATE
BY OTHERS
A

SEALANT AND
BACKER ROD
BY OTHERS

142" MAX SPACE

Wiy,
AW 1ty

EXTERIOR

INTERIOR

/® L SEE SECTION E/9) -
o o
4
4 PER ANGLE % 4
e gy (1AT EAGH CORNER) g S
i A —T] | AN 30
© - /
‘ ]
\o .
o
ol| ™
—_
" it 48
O ; 58
! 32
| ==
! O & 83
]
| I ;
1~ TUBE MULLION CLIP | — '
ANGHOR PER ANCHOR S B = ©
REQUIREMENTS TABLE \i 0
ON SHEET 1 (1 PER CLIP) @
1 4 1 RICE
Heu / ENGINEERING
O SUBSTRATE 105 School Creck Trall
BY OTHERS Luxemburg, WI 54217
Phone: (920) 617-1042
Fax; (920) 6171100
POSITION OF THE SLEEVE PERIMETER SUPPORT SECTI ON @ www.rice-inc.com
YA ANGLE VARIES WITH SUBSTRATE THICKNESS & MAY | SCALE: 3" = 10" \6/

(ARCHITECTURAL LOUVER WITHOUT PERIMETER

SLEEVE; INSTALLED INTO CONCRETE SUBSTRATE)

(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

(FOR DETAIL NOT SHOWN,
SEE SECTION E/9)

End

BE POSITIONED UNDER THE MULLION END
SUPPORT ANGLE. WHEN THIS OCCURS, THE SLEEVE
ANGLE ATTACHMENT SCREWS SHALL MOVE WITH
THE ANGLE & MAY BE POSITIONED TO RUN
THROUGH THE MULLION END ANGLE AND SLEEVE,

(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

(ARCHITECTURAL LOUVER WITH PERIMETER
SLEEVE; INSTALLED INTO ALL SUBSTRATES)

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila

Registration No: 59092

AIR BALANCE

A MESTEK COMPANY

450 RIVERSIDE DRIVE
WYALUSING, PA 18853

T draving and

TMESTEK, In.

in part, i
‘oxpross wilton permisslon of MESTEK, Inc.

I as complying with the Florida

PRODUCT REVISED

Building Code
NOA-No. 25-0106.03

Expiration Date 01/06/2026

REVISIONS DATE: . SHEET No.:
AL20 IMPACT REV.] DATE | DESCRIPTION BY |[DRAWNBY: :TEEL‘ - 6 of 10
LOUVER SYSTEM CHECKED BY: e
SCALE:
3= 10"
REV.
1686-1 .

By
Miami-Dade Product Control



Carlos Utrera
New Stamp


SEALANT AND A

SUBSTRATE BY
OTHERS

MULLION CLIP ANCHORS
PER ANCHOR

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: (920) 617-1042

BACKER ROD
BY OTHERS \

1/2" MAX SPACE

REQUIREMENTS TABLE
ON SHEET 1 (8 PER CLIP)
T

EXTERIOR

FRAME HEIGHT

1/2" MAX SPACE
(SHIM AS REQD)

Fax: (920) 617-1100
www.rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila
Registration No: 59092

|
I
INTERIOR l

\2“"_\“@ - HE‘/

SFEALANT AND
BACKER ROD
BY OTHERS
%,
7 1
9%

JAN 3 0 2025

(3) DRAIN PAN

BLOCKING & BED OF

SEALANT BY OTHERS
SECTION /o1
SCALE: 3"=1-0" N7/

(NON-ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITHOUT TUBE MULLION;
INSTALLED INTO ALL SUBSTRATES) v 3

B

MULLION CLIP ANCHORS PER
ANCHOR REQUIREMENTS
TABLE ON SHEET 1 (8 PER CLIP)

M SUBSTRATE

BY OTHERS

o=

=

() (1 )

0

ImTaTwTmmTwlaTw e aTa)

WELDS
(REF.)

/
/
O
|
|
o [
| gs \__I
| g
o |l
NI

®

_‘1_

2\

000000({\

|[~~—————— 7 EQ. SPACES AT 1%" 0. —— =

\N MULLION CLIP
ANGHORS (REF.)

L
5

=]

112" MAX SPX;E

FRAME HEIGHT
EXTERIOR

-

SUBSTRATE BY
OTHERS

INTERIOR

N

1/2" MAX SPACE
(SHIM AS REQ'D)

°F

DRAIN
PAN

3116

|

AT ENDS &
— MIDDLE; EACH
2 EDGE OF ANGLE

L—®

U ®
®

SECTIO| /o2
=10\
(NON-ARCHITECTURAL LOUVER WITH
PERIMETER SLEEVE & WITHOUT TUBE MULLION;
INSTALLED INTO ALL SUBSTRATES)

(FOR DETAIL NOT SHOWN, SEE SECTION D1/7)

\_ SUBSTRATE

BY OTHERS

POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE VARIES WITH SUBSTRATE
THICKNESS & MAY BE POSITIONED UNDER THE MULLION END SUPPORT ANGLE. WHEN
THIS OCCURS, THE SLEEVE ANGLE ATTACHMENT SCREWS SHALL MOVE WITH THE
ANGLE & MAY BE POSITIONED TO RUN THROUGH THE MULLION END ANGLE AND SLEEVE.

AIR BALANCE

A MESTEK COMPANY

450 RIVERSIDE DRIVE
WYALUSING, PA 18853

This draving and EK, I

oxpross wilten pmmlsslm'ﬂ! MESTEK, Inc,

———as complying with the Florida —

PRODUCT REVISED

Building Code
NOA-No. 25-0106.03

Expiration Date 01/06/2026

REVISIONS DATE: 19DEG, 2004 || STEET Ne:
A520 IMPACT REV.] DATE [ DESCRIPTION BY _||[DRAWNBY: e 7 of 10
LOUVER SYSTEM CHECKED BY: _—
SCALE:
37 180"
REV.
1686-1 o

By
Miami-Dade Product Control



Carlos Utrera
New Stamp


SEALANT AND

SUBSTRATE
BY.OTHERS TUBE MULLION CLIP
ANCHOR PER ANCHOR
A REQUIREMENTS TABLE
9 ON SHEET 1 (1 PER GLIP)

EXTERIOR

INTERIOR

DO

TUBE MULLION CLIP

Bonme /wvomee
s~ : MULLION CLIP
TUBE MULLION CLIP ANCHORS (RERY
ANCHORS PER ANCHOR [») Q/
; &7 REQUIREMENTS TABLE
" i B | ON SHEET 1 @
Aisi
e . . oo
g ls ‘Iu (=i e il 6AED)
i % \\\\\\HHII[/,
: L 7,
(o]
N
\ 00 =
o -
o o =
EGTERIBR INTERIOR T o -
e
@® A i 21 SSIoNAL N
& 3 8 777, SIONAL BY\N
T
y I (FOR DETAIL NOT SHOWN,
E l i —_ SEE SECTION F1/9) JAN 3 u 2025
o
o
3
=
Ve
MULLION CLIP -
/—® ANCHORS (REF.) /
wE 7—.
of —
B ® % 0
i /. o i
&I @
B A \ E\
| ——re
- T TUBE MULLION CLIP g EAED)
ANCHORS PER ANCHOR

-

REQUIREMENTS TABLE
ON SHEET 1

EOAC VO

¥
\; BLOCKING & BED OF \__ SUBSTRATE

SEALANT BY OTHERS BY OTHERS
SECTION /03
SCALE:3"=1-0" &/

(NON-ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE AND WITH TUBE MULLION;
INSTALLED INTO WOOD, STEEL, ALUMINUM, &
METAL STUD SUBSTRATES)

(FOR DETAIL NOT SHOWN, SEE SECTION D1/7)

PRODUCT REVISED

(FOR DETAIL NOT SHOWN,
SEE SECTION F1/9)

r

1
SUBSTRATE /

ANCHOR PER ANCHOR
REQUIREMENTS TABLE
ON SHEET 1 (1 PER CLIP)

BY OTHERS

RICE

ENGINEERING
105 School Creek Trall
Luxemburg, WI 54217
Phone: (920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com
Florida Firm No: F-01000005061
Certificate of Autharization: #9090
Wayne K. Helmila
Registration No: 53092

SECTION (o2
SCALE: 3"=1-0" \8/

(NON-ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITH TUBE MULLION;
INSTALLED INTO CONCRETE SUBSTRATE)

(FOR DETAIL NOT SHOWN, SEE SECTION D3/8)

as complying with the Florida

AIR BALANCE

Building Code I
NOA-No. 25-0106.03

A MESTEK COMPANY

Expiration Date 01/06/2026

450 RIVERSIDE DRIVE
WYALUSING, PA 18853

in part,
exprass writlen parmisslon of MESTEK, Inc

By

REVISIONS DATE: 1oDEC, 2004 || SEET No:
ASZO | MPACT REV. DATE DESCRIPTION BY DRAWN BY: e 8 Of 1 0
LOUVER SYSTEM CHECKED BY: o
1686-1 o

Miami-Dade Product Control



Carlos Utrera
New Stamp


SUBSTRATE

4 PER ANGLE
(1 AT EACH CORNER) /3116 15

/ BY OTHERS
I BAED)
Av @
ol ® o
BY OTHERS S
H 0 @ S b
R = b o |1 T )
? ~— 1 max l E ® i o LJH
: ‘ o o4 W c -
o B
: . ™~ ) E ) 5 d
% \@ el i v} ( 0 I
= @—\ d B d
& \-‘AN 0 B (8]
- 6 i, © i i
A 0
O EXTERIOR __,”4_ i EXTERIOR ® 7\ & EXTERIOR ® 7\ @
SECTION CEN SECTION = SECTION 2N
I O & SCALE:3"=10" \9/ SCALE: 3"=1-0" 98/ SCALE: 3"=1-0" <8/
5
s (ARCHITECTURAL LOUVER (NON-ARCHITECTURAL (NON-ARCHITECTURAL LOUVER
&) MULLION) LOUVER WITH TUBE MULLION) WITH NO TUBE MULLION)
g @
[}
g ©
: VA
g ] - '
(FOR DETAIL NOT SHOWN, DEPTH AS REQ'D TO
l‘ SEE SECTION F1/9) R e 55— L]
/ — [1.500 MIN )|
~'U‘—- 0125
- 4.000 0.188 ——{ f=— 4,000 0.250 —=| t=—o
(5) SLEEVE 1 l
g g Z 6417 4»1
ol ) TUBE MULLION TUBE MULLION
g 2 /—@ (USED WITH &5 (USED WITH
23 |—-— 4824 ——| 484 —— NON-ARCHITECTURAL NON-ARCHITECTURAL
NI ; LOUVERS) LOUVERS)
=0 |~ wax 0078 0,051 —jl=—
‘ - \j RICE e 767 22‘97 0060 b 5000 —] \\\\\\\ i /II/,
f 7 \@ ENGINEERING 1 L o o \\\\ Qe K. H, &, ///,
105 School Creek Trail 1
Luxen:;bl‘j;,‘l‘r;;esﬂr?; (M HEAD (® SILL PAN (8 BLADE Q} ?:\ / 4”( £
~—(2) Phone: (920) 617-1042 1 S v =
Ll Fax: (920) 617-1100 _:. -
v www.rice-inc.com 5078 5.0 =~ P f’
Florida Firm No: F-0 1 ) 0250 —=| {=— = =
i‘iﬁgmgg Certiicate of Authorization: #3090 7<l~;3,470 i = =
SECTION (o8 iy O 08 s ———] = =
TR = A s ’ S
POSITION OF THE SLEEVE PERIMETER SUPPORT SCALE: 8" =1-0 % ~— 0.078 % \eg/\\\
ANGLE VARIES WITH SUBSTRATE THICKNESS & MAY 5 6.250 [ — - O
£ POSITIONED UNDER THE MULLION END (NON-ARCHITECTURAL LOUVER WITH 1,600 p 7,88 S
%ﬂi@f\%’xﬁ;é m«gg EE&?ﬁ?ﬁi’fﬁ%’Ji aLEEVF PERIMETER SLEEVE & WITH TUBE MULLION; r (TSSBIEDWI#ON ,///;/WONAL %::\\\\
THE ANGLE & MAY BE POSITIONED TO RUN INSTALLED INTO ALL SUBSTRATES) @ JAvB 1250 3 ® BLADE SUPPORT ARCHITECTURAL /” i \
THROUGHTHE MULLION ENDANGLE AND SLEEVE: |- DETAIL NOT SHOWN, SEE SEGTION D3/B) R @ sILL BRACKET LOUVERS) JAN 3 02025
PRODUCT REVISED A520 MPAGT REVISIONS
AIR BALANCE as complying with the Florida OTIER SV TN FEY. DATE [DESCRIPTION EL_[oRANN BY: e 9 of 10
Building Code PHECKEDY: s
A MESTEK COMPANY SCAII..E_: s
450 RIVERSIDE DRIVE NOA-No. 25-0106.03 A
WYALUSING, PA 18853 REV.
e T Expiration Date 01/06/2026 1686-1

By
Miami-Dade Product Control



Carlos Utrera
New Stamp


IO — RICE ITEM # ITEM DESCRIPTION MANUFACGTURER/NOTES
| |‘ —— 1125 | 12.000 ——— PARTS
) 0750 ENGINEERING .
0.750 9/32" DIA. HOLES J"’ s TSHACES @ 18 | (TYP) 105 School Creek Trail 1 HEAD 6061-T6 ALUMINUM
B @*/ I 1 Luxemburg, W1 54217 2 SILL 6061-T6 ALUMINUM
* 0750 Phone: (920} 817-1042 5 |siLpan 5052-H32 ALUMINUM
3.000 o— — @ @ [§2] D Fax: (920) 617-1100 2
2.250 3.000 www.rice-inc.com 4 JAMB 6061-T6 ALUMINUM
e e @ $ HIN. Flotida Firm No: F-01000005061 5 [SLEEVE 5052-H32 ALUMINUM

ir 8 H o ® N l ericats of Auorzan: #9050 5 |BLADE 5061-T6 ALUMINUM
0.500 ! I T 1 ! —— L R eiration No: 69092 7 |BLADE SUPPORT BRACKET 6061-T6 ALUMINUM

—~| }=— 0250 o5 DIA HOLES 8A  |TUBE MULLION (USED WITH NON-ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM

0.750 r 0375 > 0250 88 | TUBE MULLION (USED WITH NON-ARCHITEGTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM

916" DIA \EB ) T 9 "TUBE MULLION (USED WITH ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM
2,000 " HOLES T } 10 |MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
4000 & & & & 66 & O A 11 |MULLION END INSTALLATION GLIP 6061-T6 ALUMINUM

| | 0.876 L e i
T | 1 12 MULLION END GLIP FOR SLEEVE MOUNT LOUVERS 6061-T6 ALUMINUM
AO— *’ﬁ]—“i 7SPACES @ 18" 0.C. ———————— ’|* '1‘—? 13 |MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
0.750 0.750 14 LOUVER JAMB TO SUBSTRATE CLIP 6063-T5 ALUMINUM
. 6063-T5 ALUMINUM (WITHIN 4' OF SLEEVE CORNERS OR
(i® MULLION END INSTALLATION CLIP (i3 MULLION END INSTALLATION CLIP 15 [SLEEVEORTUBE MULLION TO LOUVER JAMB CLIP TUBE MULLION ENDS AND MAX 8" 0.C.)

16 |TUBE MULLION TO LOUVER BLADE ANGLE (ARCHITECTURAL LOUVERS) 6063-T5 ALUMINUM
4,000 9/32"DIA.  43/32 DIA. HOLE FOR 17 |SLEEVE SUPPORT ANGLE 6063-T5 ALUMINUM
2.000 HokER ?I'ETL%R[';QI{'Q/EEDBO’-T' 18 |LOUVER JAMB TO SUBSTRATE GLIP 6063-T5 ALUMINUM
; 19 |MULLION COVER 6063-T5 ALUMINUM

S - 0.250
J: CENTERED IN CLIP.
20 CONTINUOUS SUPPORT ANGLE 6063-T6 ALUMINUM

1.500 = EEE—L T
Al e e r( 21 |CONTINUOUS SUPPORT ANGLE 6063-T5 ALUMINUM
i T 2.000 ——] 1500 |=—
>\ f LR S e ey ’ 9/32" DIA. MISC. FASTENERS

2,000 HOLES
\ ' &) 7,
e 30 [1/4-14 X 3/4" SELF TAP/DRILL SCREW N T EMN ST, 7, |PeroLP

. * 0.750 HOLES AT EACH "
Jk N ® a/éfZEl;‘A- j LOUVER BLADE 25 1/4-14 X 3/4" SELF TAP/DRILL SCREW 2 PER CLIP
. WITHIN 4" OF CORNERS & SLEEVE SPLICES. MAX 8" 0.C.
@ 26 |1/4-14 X 3/4" SELF TAP/DRILL SCREW (CLUSTERED AT MULLION ENDS PER DETAILS)
2000 = = b= 0250 ASREQD 27 |1/4-14 X 3/4" SELF TAPIDRILL SCREW W 8" 0.C. PER SECTIONS
e 2,500 IN FIELD
050 0.500 j (1" MIN) 0.250 9/32" DIA. 28 1/4-14 X 3/4" SELF TAP/DRILL SCREW 4 AT HEAD & 2 PER BLADE
T @. oo .l R Tl Ji o ® o .‘.\\\\llluu,l
\ _ 9/16" DIA. ’6’ i - . MAX O.C. B 29 1/2" X 5" HEX HEAD STAINLESS STEEL NUT & E \\ e K F’E/ //// 2 PER MULLION END

—® 0625 31 |1/4-14X 34" SELF TAPIDRILLSCREW s‘/ Vv SEN 2 [iperaup
I - 32 |NO.7X 1/2' SMIS SCREW o ranho \ . —|WITHIN 6 OF GORNERS & 24" MAX O.C.
e e : No- T
= HOLES ® TUBE MULLION TO 8 |1a-16 X3 SELF TAPIORILL SCREW = g e ':'V e JEEE ANCHOR SPAGINGIFRESSURE TABLE FOR SPACING
LOUVER BLADE ANGLE s - i
() MULLION END INSTALLATION GLIP () LOUVER JAMB TO SUBSTRATE CLIP PR S
o &I~
o UL/ &S om
0.250 o ;Lﬁ(\]/g)WHEN I 028 TOSLEEVE) 7,,Ss, I\ NN
I 7t SIONAL ESaN

_ 2.000" TO - .
3.000"
1.500

,?,4@ |
o @ SLEEVE SUPPORT 0.750

L ANGLE
—® AS REQD ’4 = CONTINUOUS ‘«—R CONTINUOUS

: ‘r 2.500 -_‘ 1,000 (LENGTH = CONTINUOUS)
9500 |‘_ ] |=— 0.250 .
S (TYP) 2.000 ‘ |- 0.500 [ IN FIELD

1 - 0.250
AS REQ'D FOR PROPER 2,000 | (TYP) [ 2o a'i |-H I T
l—— ={— FIT WITH TUBE & SLEEVE - 1.750 (B 1.500 1.600
(NO LESS THAN 1") 0.079 T i 1 N
- 0829 i sazon, |/

1 o 7 7FD125 B ///”“““\\\

—

5,000 —»—1 ——-i |-— 0.250 T 1
He e

4.000

JAN 3 0 2025

HOLES ™ |
9/32" DIA. _/ 1 = oo e
HOLES
@ MULLION END GLIP FOR (@ SLEEVE OR TUBE MULLION @ MULLION LOUVER JAMB TO SUBSTRATE CLIP @) CONTINUOUS SUPPORT ANGLE () CONTINUOUS SUPPORT ANGLE
15 9 " - " H g -
SLEEVE MOUNT LOUVERS TO LOUVER JAMB CLIP COVER ZECRAL B SECURED 15" LEG SHALL BE SEGURED
PRODUCT REVISED — revisions
Q w V as complying with the Florida A520 IMPACT REV.[ DATE [ DESCRIPTION BY_|[DRAWNBY: ro 10 of 10
www.awv.com Building Code LOUVER SYSTEM CHECKED BY: e

AMESTEK COMPANY NOA-No. 25-0106.03

219 8. CHURCH STREET, SUITE 200

BOWLING GREEN, OFi0 43402 - Expiration Date 01/06/2026 34656-STD

‘exprass wrilten permlss!nnvm MESTEK, Inc.

By
Miami-Dade Product Control



Carlos Utrera
New Stamp




